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V.

Aggadic excurses related to the pmw — the pits by the side of the nam, where the wine and water descend
a.  pny 1 (and 58P *7 227 N2): they date back to creation (i.e. are natural cavities) per vv. 1-2
b. ’p» "7 they descend to the nether chasm, per vv. 3-4
c. 717¥ 72 758’7 every 70 days, 103 'n1a go down to pit and bring out hardened wine (like fig wheels)
i. And: they come and burn it nwyTpa — per vv. 5-6
ii. 571 they would plug up the pn'w when pouring the wine, per 75w — to sate the nam
Additional Aggadic statements relating to v. 1
a.  N27 D0y 19 n refers to 3% N»YY — 211 Na associates with nnaR, per v. 7
b. w27 237 &2 P2V 'pnn — discreet place of N, per v. 8
Various Aggadic statements about great value of np1x (vv. 9-14)
Analysis of » mwn: same on Naw as 5N except for bringing it in non-sacral barrel
a.  Question: why not a sacred barrel?
b.  Answerl (»p1) : he holds that any amount of water is 11p and that mw 53 are nyT> XYY DWTPN
i. And if: he would bring it in a wTpn »3, it would become invalidated overnight (n19)
c.  Answer2 (77prn): DI 93 are not W1pn without Ny
i. However: there is a ' here, that the onlooker may think that he was w1pn the day before
d. Answer3 (871 77): even if nyTH ROR PVTPN PR NIVY 93 and DNY MYV WV
i.  Still and all: room for a precaution against his being wTpn the water for m931 0 VTP
Analysis of last clause of » nywn — if the water or wine became n%un — invalid
a.  Question: why not use a sieve?
b. Answer: must be contra nmi 7, who allows a sieve if the bottom container is covered
i. Rejection: nm "7 only allowed that for a regular citizen
ii. However: for may 7%, we have a higher standard, per v. 15
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